
SECTION

PLAN

DETAIL A

3'-6" (1067 mm) 

SQUARE CONC. SLAB

24" (610 mm) DIA. CMP

SEE DETAIL A THIS SHEET

1/4" x 4" x 2" x 12" LONG
(6 mm x 102 mm x 51 mm x 305 mm)
STEEL BOLTED TO CMP WITH TWO
3/8" (10 mm) GALV. BOLTS.

6" (152 mm) C CONC. SLAB & GARBAGE RACKL

1'
-0

" 

1'
-3

" 
(3

81
 m

m
)

5" (127 mm)

FIN. GRADE

CMP

3"
 (7

6 
m

m
)

24" (610 mm) DIA. CMP

PIPE CAP

SIGN

4'
-0

" 
(1

21
9 

m
m

)

4 1/4" x 2 1/2" (108 mm x 64 mm)
BOLTS WITH WASHER

1/4" x 6" x 6" 

STEEL PLATE WELDED TO POST,
3/16" (5 mm) FILLET WELD

3/16" (5 mm) U-BOLT
W/RIVET ENDS

3/8" x 6" (10 mm x 152 mm)
BOLT W/SPACER

2"
 (5

1 
m

m
)

2" O x 4'-0" (51 mm x 1219 mm)
GALV. IRON PIPE

(3
05

 m
m

)

PIPE FLANGE

1" (25 mm) 
RADIUS

3'-6" (1067 mm) 

SQUARE CONC. SLAB

1/4" x 4" x 2" x 12" (6 mm x 102 mm x 51 mm x 305 mm)
BAR STEEL BOLTED TO CMP W/TWO 3/8" (10 mm) BOLTS

4-3/8" x 5" (10 mm x 127 mm) BOLTS

2" (51 mm) 6 x 6 - W1.4 x W1.4 WWF

BILL OF MATERIALS

QTY     

1 LF GALV. 24" (610 mm) CMP, 16-GA.

3 1/4"x4"x12"

(6 x 102 x 305 mm)

SIZE FINISH ITEM

BAR-STEEL (BEND AS SHOWN)

6 3/8" x 1 1/4"
(10 x 32 mm)

GALV.
BOLT/NUT

1 3'-0" x 3'-0"
(914 x 914 mm) 6 x 6 - W1.4 X W1.4 WWF

1 2" O x 4'-0"
(51 x 1219 mm) GALV. PIPE

4 3/8" x 5"
(10 x 127 mm) GALV. BOLT

1 2" (51 mm) O GALV. PIPE-FLANGE

1 3/8" x 6"
(10 x 152 mm)

ZINC

(6 mm x 152 mm x 152 mm)

BOLT W/NUT

1 3/8" x 3"
(10 x 76 mm) GALV.

SPACER FOR 3/8" (10 mm)
BOLT

4 1/4" x 2 1/2"
(6 x 64 mm) BOLT/WASHER

1 1/4" x 6" x 6"
(6 x 152 x 152 mm) STEEL PLATE

1 2" (51 mm) O GALV. CAP-PIPE

1 3/16" (5 mm)
U-BOLT RIVET ENDS

1 0.2 cu. yd 
(0.15 cu. m.) TROWELED CONCRETE

1 EA SIGN (GOVT. FURNISHED)

PLATED

PLATED
ZINC

ZINC
PLATED

NOTES:

1. BEFORE MASS PRODUCTION OF THIS UNIT IS STARTED, A PILOT MODEL SHALL BE
CONSTRUCTED & MODEL SHALL BE APPROVED IN WRITING BY THE CONTRACTING OFFICER.

2. THE METRIC CONVERSIONS ARE PROVIDED IN PARENTHESIS FOLLOWING THE ENGLISH UNITS.


